— [« D S} N
N N © © ©
o~ o~ ~N N N .
+ +—— -+ -+ + 66-8 64897
| 49 | go89z | £6992 |
I 669 | #6992z | €689z |
- 6/°G 0,892 1 SS'89Z
- 2C2°G 1 ££'892 1 L5892
- 99% + 44892 1 65892
- £/°C +£889¢ 1 2989
- £9°C +26'992 1 $9'892
- I/ 66992 1 ££'892
v - 96°0 +90'69Z 1 6892
N
1S
DS
N
e F w0 <7169 + e -
I
=+
_2
a
-G/ | — 80692 1 6/'89Z
F0G T— £0'69¢ 1 S8'89Z
00 '€ — 88'89¢ 1 89'89C
FG¥ 'C—1 85892 1- 85892
s :n“u“ + “n_w“ “,_&“ “_, 068 $&692—
N N < © oS | 'z
~N N Y N S
=}
3 18|t
o o
‘S o R
s 8|8
S o o
— IS SN © N ©
N N ©© © © ©
N N N N N N .
+ +—— +—— 4 +—— + 068 62592
| vSE | oc89z | oc89z |
T LEE T zyg9z T og99z ]
- £8°C + /6992 + 05892
- ZL'C 19892 1 0£'89C
N
S
28
.o_lm - oo 89897 + zwsr
..:,,._H
Q
-G/ | —- 29892 + L£8IC -
F0G'C—1 85'992 - ¥£°892
F00'C— £+'892 - £2°'892
FL¥ '€ —+ 21892 + 21892
s “W“ “_“/“ iy H6-& 8+692—
TN S 8| 3
~N N o
=]
8 S 5
o
-2 S 3
BoS [ [
3 | 3| %
3 & &
N 3 3 N S
o ~N ~N N N .
+ +—— -+ +—— + H6-& 66498
| 629 | 9089z | 9099z |
/ 009 T 48192 T 60892 7
- 0G°G 20892 + #1892
- G/ +90%89¢Z 1 02'89C
- /$'C 81892 1 L£89Z
M
N
$8
T8 - 000 -£2°89C ks -
ey
4Il._ N
S -88°0— 02892 + 92°992
G/ | — £1'89Z + 1£789Z
f F0G T— 21’892 + Z+'89Z
X 00— £6'/92 1 05'89Z
/ L1/~ 6v89z 1 5992
—_ —l —l 200 iyl
STETTE TN R [ o
~N N N & & 3
3
8 S S
.
-2 S 3
pmv. [ [
s | 8| 8
S e &
S (=) N ©
N © © ©
o~ ~N N N .
+ +—— +—— + 068 95£92—
| 80°G | 5979z | 69192 |
6% T 99192 T 89492
- 62V 19192 1 £L°L9Z
- $G°C 697292 1 08'L9Z
N
&S
TS - /04971 s
QY
=+
_2
a
G/ | — 14192 1 06'L9Z
F0G T— 49192 1 06'L9Z
F00'C—— 25292 1 66°L9Z
FEC b—1 ££892 1 ££°89C
+ . s -+ 66-8 o
<) S b e
N o~
N & & & K| &
=}
3 1% 8
-2 S 3
= 2 2
S a o
(=) (o)) xQ N © [T}
N © © © © ©
o~ ~N ~N ~N N N .
+ ——+ +—— it +—— + 00-8 £5°998—
- YEE 1 62492 1 62292 -
- 00°s T 90492 - ¥££9% -
F0GT 12192 1 w'L9Z
- G/l 92192 - 95492
R - 88°0 62192 +- 0£°£92 -
I8
QS
M m oo 2¢/92 + sz
=+
U N
S F/8°0— 62492 + 2££9Z -
-G/ |~ 9292 1 I£L92
F0GC— 12192 + 05492 -
00 '€ — 9092 + 08'L9Z
6/ € —— 656492 + 21892
F19P— 1 ¥1'892 1 #1892
—_ |— PR IR T T Y n 200 az
RTTETTETR R R, =
~N N N & N N 3
o — 3
S | & | &
2 S 3
= S S
=1 S S
(2] DO [0
o
S & &
(o) [be] N © © <X
© © © © © ©
N N N N N N N
+ +—— +—— —— +—— + 068 92998
L £C°C | 999z | 9/°992 |
T 00°¢ T 19992 T 9,992 7
- 0G'Z +9L992 + £L99 -
- G/l 08992 1 6/°992
N
| oS
&S
TR - o0 9899 + seesz
S
.Il._ N
Q
-G/ | — 08992 1 68°99Z
FOG C——1 94992 + £1£92
F00'€—+ 19992 + 2££92
FUL Y= #1492 1 ¥LL9T
— —l PR IR T T Y n Valald .
JNF T I T T 1 .
N N N N N N 3
h=] — S
S | & | B
2 S 3
T 8| 8
=1 S S
(%] e D
S & &
()] o N © ©v <+
© © © © © ©
N “n“z“ “n“z“ “n“z“ “n“z“ “2 H6-& 5
| 61¢ | 8099z | S099z |
00 | 5199z | 2099z |
- 0G'C 1 05992 - 60992
F G/l +6£'992 1 £1°992
Q - VL0 T 8€'99Z T ¥2'99Z
| S
&S
.0_: m - wo 19997 + e -
.u,._y
=) F#/ 00— 85992 - 81°99Z
-G/ | —— S£°99Z - SZ°992 -
F0G ‘T—— 0£°992 1 9¥°992
00— 51992 1 09'99Z
F#9°C—1 85992 1 6/°992
F81 %y —- #6992 + ¥6°99Z -
—_ P —l —l n 20°0Q TRy}
S ) N & b ¥ [VV° HE5E
© ‘B
€ & & { 8§ 8|73
S
S S g
P,
-2 S 3
am.r [ [
2 | % |8
S & &
ss} <~
© ©
N N :
+ + 668 48698
- £V 26992 1 25°59Z
F CLY 21692 1 9v°692
- £9°C + 21692 1 8¥'69Z
- 0G°'T +£8'G9Z 1 09'S9Z
F G/l +16'692 1 9.°69C
N
1
3
NS .
TS L o0 +86'G9z7 + v
Q™M
= F
_2
a
-G/ 'l — 16692 1 09'S9Z
F0G T— £8'692 1 95°69Z
F£9°C—1 21692 1 11'99C
FCLY—1 21692 1 §£°992
F¥/°9— 98'99Z 1 98°992
& + i oﬂ ‘g 6£-992—
N & a
3
3 S 5
o N S
‘S = -~
gle e
s | 8| 8
S e &

5 =g o~
= N N
X 5 ., o
=t QL NERK|Ew] 59|« §
S.k — o 14 : O ([ ©O
. T P2l B
u e (o)) o == z » - |0 W
= N Y A <
. ®) < = s
oD S
v o —
N @
< ) &
5| O e
[ 23 O
o [ © N = w 3 W 8
N NS ol - g9 g
N N S N N } 3|2 Eg| O = |8
" —+ — —+ ' Tatakal £ 30 oY N Z €l s
N o w
H ~NE| @ < N 5| %
T(O > (@] &) x| g
|2 © & = z 5
) s - LL] 2]
e|@gs| © W N
7o) .W o = m o O e
2 ~EE3gs| W Olalzls
0 — ~ W o~N N [G)
© o 0o Qo FR W ¥ 8
o o= ON23gzZz %S = O @) < |
T 32 wWlHZoZ® 5 o |§|°
= a0 == zR Eluw g&| O o
S2:3 35823355 = Ll
352 QA8 2|0EL ) (M) -
- +4 +4 4 - o o £ W m — =W % c
- T+ T+ . S§<23 EF22%¢8zE5| Y ©)
. Side @deot EI5S £ - X
L 1% | eveez | 969z | Sisc [Z20a8°%8 3 5 = v
| 88 | 6v89Z | 561897 | — m%m o W M,%m..m_v .m. R L
NIsE HLsn3Eegl O ™
L 1 1 i = o © Z oo D > 6| o
oI _ ISR H <3292 o o
oS 2o 32 %L o
- 067 1 #2692 1 28992 o .Ww S R ISR D &8 < 2
769z | #16% nwele 9 FL@eN = 3
St Sacs 2L %2288 O 5|z
- + 9269z 1+ v1'69Z n @83 Z=322£8 3 R
oL =8¢ 5523 S = 3| g
87692 | ¥1692 S5 o3 £ < e 2 5 S| <
. O © = Qo > s [an] Av\.v N M
= | G/ | 1 | - = = 28 T % z S |y
N ¥ 3 = = N H N Z | £
18 g 3 2| 2 e |z g vlg
8 s = 3|3 a |z & 5|¢
TR - T T . v 2| 5
2% i Sl . >
~ =2 o 1] N | ..
T oy 3 22 a3 EO|¢ o=
= FSLV 1 gzear +ames{ | 2 < 5 58,58 _
. v Q < f © P4
SL'1— | szesz | 28992 E 5 S w 3 z $2x8| < | E
. 2 =) Sy
-G/ |-+ sz L agese | 2 2 3 a 3X 2lh gz gy
2 g S 2 -8 °%| 3|8
clz— | 969z | arg9e 4 z 3 o b Zlg Y|z2|&
oG z— | ¥26% | (9%
LELP— 1 6v89z 1 £9'99Z
| 0G¥— | #9892 | 59892 |
/97— | $889z | 8892
s “n“u“ . “a_v“ N 00-8 96892
N RN £ £ €| B
N N N N 3
=]
S S g
o
o o
'S o ]
QD [} [
S & &
~ S () [se] N
N N © © ©
N N N N N .
e e 66-8 52692
\
- CLY 59892 1 £1'692
- 0G'C + 0v'69¢ 1 06'89C
GL'L | sve9z | Lz69z
G/l | s¥69z | L2692
N
1S
S
Ng .
T3 L oo 116697 + sz -
Qo
=3
a
-G/ |— 6692 1 9Z'69Z
F0G C— 0v'69Z - 85692
-2y ——159'89Z - 65692
0Gv— | 0689% | 5692
FG¥ 'G—1 £6°69Z - £5'692
N “W“ “nr“ “n&“ — 008 95692
]ORN &8 € 8| B
~N N N N 3
3>
R
-2 S S
nMv. @ [
s | 8|8
3 & &
~ [w] (o)) o] © N © wn ~-
N N © © . < © 33 <o ©
USSR ML R A DR, PR - I P O
" 197 T 8969z T 0969z ]
91"/ +£969z + 65692 - G/ - 12'992 + ££'992 -
- $6°9 + 1£°992 1 69'992
F /V'9 1 £9'69Z 1 66692 - .
- €9 + 6£'992 1 #9'992
- G/'G +99'69Z 1 65692
- 66% 59692 1 65692 - £1'G 185992 - S§°992
- 61% 189692 1 09692
- /6°C + 1$°99Z - 6+°99Z
. - /YC 28992 + 84992 -
F U2 14692 1 19'692
- G8'C ++ ¥+'99Z - £¥'992
- C¥'T +#L'69Z 1 09°69Z
- £7°l 4692 + 66692 - L e L sosz L crosz -
N o L ¢/°0 1 0869z + 19692 R
_ N
RS - 29
> F 000 1 28692 + £9'69Z .O_IM I oo 4069927 + evese -
=3 . =
I -16°0—+ 195692 + 29%69Z 5 &
Q S
L' |— 164692 1 £9°69Z
-GG |l —— £+'99Z - 8Y°99Z
FG6°|—- £L'69Z + ¥9°69Z -
L2/ T~ #L69Z + G9'69Z - -GG 'T— 6%'99Z 1 15992
F/Z°C—1 2,692 + 99°69Z - FIZC— £#992 + 26°99Z -
F88°C—- 04692 + £L9'69C - F08°C—- 8£992 + £6°992 -
F/SY— £2'99Z - ¥G°99Z
98— 0£'692 1 89°69Z .
00 G—— 65°99Z - S699Z
FG9°G— 1£'692 1 69'69Z
F1£°9— 12,692 1 0L'692
607/ —1 2,692 - 1£'69Z
29/ — ££'692 1 TL'69C
+ +——+ +—— + 068 £ | z+692 } — M : . .
NI Y TR ST [ o
N ~ N N 3 N N N N N 2
=]
8 S § 3 S 5
[s) o o m
3 S 3 8 S S
O [} [} le. [} [
S S S S S S
3 X X 3 & &
S Q- Q= S Q= Q<
N = N o] ] SN ') © )
~N N N © © © © © ©
N “n“z“ “n“z“ “n“z“ A 068 0L ™ i e -y 0L L
1 T N UUoC UL
., | £219 y
L ey + NHRQNH
. | vezez | vtoz
8¢/
- 96°G +££'992 1 SLL9Z
- ¥¥'G - 88°99Z - ¥/L'L9Z
-G/ 26992 1 2LL9Z
- 99°C 1 6v0L2 + 6¥°0L - - £/ 56992 ++ 69292 -
- 00°C +900LZ 1 £5°0/Z
- 0G'T + 12042 1 95°0L2
- G/l +620/Z 1 85°0/Z
M
I8
& . &8
iy S F 000 + I£0LZ + ¥Z0LT .0_1 m - 000 <+ 80292 + 92£9Z -
=+ =3
N —
N N L 20—t /nra> L orra7 ]
a o Y90~ L0192 1 82192
Fiy 'l — 150192 1 £££92
90— %092 1 £%'L9Z
F9G T—- £0492 + £#'£9Z -
F£C°C—1 20192 1 W'L9Z
FICb— 1001492 1 ££°L9Z
-G/ b— §h0LZ 1 £50LZ
90 'G—— 66'99Z 1 ¥£'L9Z
F0G 'G— 01042 - 95°0/Z
| 00°9— 69z L 95022 - Fv/ G—- $6'992 + 292 -
F/Z°9— 16'992 1 05°L9Z
469 95042 - 95022 L06°9— 199z - 87292
-/ — L8992 + 9292
P I S S 069 cc0sz Y e, | 50292 | #2192
N m m S|z S R 5 & Q[T [ |
3 N N N N N | 00—
8 S 2 ° — 3
S - S 1% | ¢
TS| = g | 5| £
nmv. M M Mr 3] [}
3 | 3| & 2 | |3
| N N 3 & &
S [ [ S [ a
N — [« [=2) [« [ © N ©
N N N © NS © © © ©
~N N N N .
+ - ——+ + 06-& 6L0L% 2“ “n“z“ “n“/_“ “n“/_“ “2 008 G898
¢s 92'992
vk9 92'992
109 12892
96G 62992
Ire 0£'892
- GO'G + #5892 1~ ZE89Z
z9¢ | so89e v£89¢
L /o 4 9902 L 9910/7 . 9992
/8°C +95°0L2 + 98°0LZ ooy T+ 1 i
- 00C 182042 1 £8°0LZ 10 | 829z | #r99z
- 0G'C 1 £v'0L2 1- 68°0LZ - 29°C 06192 1 9v'99Z
F G/l +Lv0LZ 1 £6°0LZ
- 62| 66192 1 L¥'89Z
< )
N
IS 1S
&S RS
- - -
IR o0 - £60/2 1 ovoz T8 - -+ T A
S SIN
— = +
o A
S a L 1 4 i
F8G 7~ #¥0L2 ++ LL 0L - - + + -
FECC—1 00’042 1 £80LZ
F£8°C—1 62'0/Z 1 £80/Z - - - E
-G/ v—— 9802 - 98°0/Z
+ ——+ +——+ + YaTalial 16°642— + —+ 4 — VaYallo} co
N ST TR [ %
N N N | 3 N & & & N| 8
B 5 2 bS] — 3
s | 8|2 S 18|t
8 S K 2 S &3
g | 3| 8 gl 8| 8
S [ [ S [ o
N — [« ) [« N ©
N N N © N © ©
N N N N .
e 068 o402 N NN P 4
Sty | 9099z | 18892
[OLE T seuue T sguLE - £9°C 19997 1 98997 -
- 00°C +8+0LZ 1 69°0LZ
F 0G°C 1 ££°04Z + 0£04T L 067 + 19992 -+ 29892 -
[ GZL A 850LZ 4042 L 671 -+ 5989z 1 5699z -
be]
S .m
| S
RS L &S
0_ 8 F 000 + ¥¥0LZ + 8v0LZ H T L 000 + 1£'99Z -+ 59992 -
=+ et
J% o
Q a
Lo/ 1=+ scosz + sg0sz - G/'L— | 5989z | 16892
G/'l— | s989z | 167992
F0G Z— ££0£2 + 6904 - ﬂ L 4 1 i
F00'C—- 8102 + 69°0L2 - \
P F£9°C—1 98792 - 0L'89Z
F68°C—1££°002 1 £L0LZ
FE1y—- 98L92 + 89892 -
0Gv— | usse | L9892
+ - + 06-8 23648 —————+ ——+ +——+ + 668 5
NN STTTUETTTR TR [P *
N N N N~ 8 ~ N S S S| 8
B = 2 . >
S = I 3|5 | &
S| 2 2| 8| &
Tl el e | e
S S S < < <
28| & g | 8| 8
S e < S e e
N ~ S () [se] ~ S (o) © N
N N N © o N N © © ©
N N N N N . N N N N N
+ +——+ +—+ +——+ + 00-& £OBLE + +——+ b+ +——+ + 00-8 SH692—
" 06°¢C | 9189z | 62892 ]
L 2GC 4 vi0Lz + p1oLT - - £9°¢ T 91892 T ££7892
- 00 +6£692 + 51042 - L 4 1 i
{ - 0GZ + #6'692 + 910LZ - - /17 + 1 i
! </l £699z | /8992
- G/l 66692 1 81°0£Z . T T 96952 - £1'69Z
96’892 | £1692
2 - /8°0 + z00/z 1 #1042 = - £6°0 1 6699z - 21697
TS TS
83 23
T8 - wv 1-500/Z 1 woz T - 1 1 -
23 =N
=& =
J ] a8
S -89°0— 20042 4 £0°0/Z - =) - T -+ -
SL1= | g0z | cower
-G/ | — - 66692 - L0°0LZ - G2 °1— 1 9689z - 58°99Z |
80°C— | v6992 | 99892
F0G Z—- #6'692 + ¥10LZ - L 4 1 gegoz
/ 0S¢C 0G'7-T 1699 | 85992
R Bl -£L -1 05992 + 26997
F69°C—- 620LZ + 620/ - - + —+ .
FEE V=1 05892 1+ 6599
4 | /Gv—| 9ru9z | G599z |
6/ - ¥$'892
+ ——+ +——+ +——+ + 66-8 ; + A+ +——+ + 66-8 .
n—/L m m w mUu Crwq”u 950/ ‘—./l m w w _n/O/ Crwlu 2697
N N N N 3 N o~ ~ ~N 59 w
o — 2 . >
S S | & 3 5 | §
s | 5| 2 s | §| =
mlw. Q o ml..w. [N [y
s %% s | €] %
© N N 3 o o>
S Q= Q= S Q= Q=
~ (@) ()] [Se] ~— (=) () [ss] N
N N
t = T t v0o 65696 + +—— +——+ +——+ + 00-8 16°892—
- 1y 55892 1 v£892
L 92°¢ | 16692 | 16692 |
) T 00°¢ T #c692 T 16692 ]
- 0G'Z + 65692  £6'69Z - - 0G'C + 80692 1 62892
L o/ L eoser L 160z - Sl | avese | w069z
G/l | zve9z | 10692
y R
N S
&8 48
TS - v 09692 + s - TS L 1 1 i
S SN
A 58
Q Q
e/ 1— coaz L ov60z S/°l— | 2169z | 0899z
G/l | 2169z | 08'99z
F0G 7~ 65692 < 5692 - F0G'Z—+ 80692 1 89'99Z
) -00'C— #£'69Z - 19692
LG’ —T 89692 - 89692 - i 1 1 |
LELY =1L eepoz L #2992 -
06— | 85892 | s/99z
g/ p— | 9892 T 9L89%Z
+ +——+ +—+ + 00-8- £6- + e L B o 4+ + - v
AR IEE Y ] LrErrTg e 998 888561
N N N N[ 38 ~ N S & K| 8
© — 2 . >
S|l % | ¢ 31 % | 8
s | 5| £ s | § kS
mv Q o Mr [ [
3 m. S S S S
| N X 5 & X
S Q< Q< S Q= Q=

GL91XL6C



	Sheets and Views
	14_2-2021_DL 110-129-123_POPRZECZKI-5.5


